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QUESTION 1

What is the functionality of the latest Data ONTAP DSM for Windows? 

A. It can handle FCP and iSCSI paths to the same LUN. 

B. It allows you to take snapshots for both FCP and iSCSI LUNS. 

C. It allows you to enable ALUA on the igroup from the host. 

D. It allows you to create new LUNs from the host. 

Correct Answer: A 

 

QUESTION 2

Click the Exhibit button. 
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A Solaris 10 host with VERITAS Storage Foundation 4.1 is FCP attached to a FAS3140 high availability storage system
running single image cfmode.Using the diagram shown, which ports will be considered active by VERITAS DMP using
the NetApp ASL to a LUN on controller 1 mapped to host 1? 

A. Port 0b on controller 1 only 

B. Port 0d on controller 1 only 

C. Port 0b and 0d on controller 1 only 

D. Ports 0b and 0d on both controller 1 and controller 2 

Correct Answer: C 

 

 

QUESTION 3

Click the Exhibit button. 
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Given the information shown in the diagram, which port has a NetApp device attached to it? 

A. port 3 

B. port 5 

C. port 6 

D. port 7 

Correct Answer: D 

 

 

QUESTION 4

Which of these attributes can affect LUN I/) alignment? 

A. The same LUN is present in two igroups with differing ALUA states. 

B. The starting offset of the first file system block on the host. 

C. The LUN is a boot LUN. 

D. The LUN is part of a logical volume. 

Correct Answer: B 

 

QUESTION 5

Which native GUI switch tool is used to manage Brocade switches and directors? 

A. SAN Manager 

B. Enterprise Fabric Services 

C. Device Manager 

D. Web Tools 

Correct Answer: D 
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